Simplificar Expresiones (H)

Simplifique cada expresion.

Oy2x 2

- 1o (=) 6. 2+ (—22°) +x_—§
.412;2+3£;y 7 =2+ 14 11—y
i, 8. —2b% 4+ 1+4+2b
X — - -(—x) +1+4+20u
. =b* - (=b%)- <%> 9, Sb—bz2+3b-(—b)
.bv+v—|—% 10. 14+10c>*+8+b
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Simplificar Expresiones (H) Respuestas

Simplifique cada expresion.

Oy2x 2

T 6 (a2 6. 2 (—272) + 2%
—+6- (=¥ 2 z)+_Z
= —6x>—9y = 27 —x?

4by?*  3b?

QiR 7. =2V +1+4+1—y?
by by — 92 240
=4y+3b =Tyt

2.2
e V2 8. —2b% + 144+ 2bu
, Ix? = —2b* +2bu+5
=Tvx"+vx
4bz 8bh?
—_bE(=pH) | == i (=
( )(bz) o 3 ab. ()
— _4p* = —3b*+8
3
.bv+v+% 10, 1+102cz+8+b
- =10c*+b+9
— bv—TH +v ‘

MatesLibres.Com




